BA/BSS Summer 162

AMERICAN INTERNATIONAL UNIVERSITY - BANGLADESH (AIUB)
SAMPLE QUESTION
) For
BACHELOR OF ARTS AND BACHELOR OF SOCIAL SCIEN

NAME:
ROLL NO: -
Tick (v') as appropriate
MMC ENGLISH

Please read the following instructions caref

e Total Marks : 100
¢ Total Time w7 100 minutes
o There are four sections of the test bookl 1 i arks distribution are as follows:

Section Marks
A Short Essay i
B General Know' (5x2)=10
C Verbal (35x2) =70
D (10x2) =20

DO NOT - er in the ID/ROLL NO section of the OMR Sheet. The Proctor will write the
ROLL NO. :

IN THE OMR SHEET

TION PAPER AT THE END OF THE EXAM.

the test booklet to answer SECTION A. No extra paper will be provided.

"to answer SECTIONS B, C& D

LATOR IS NOT ALLOWED. Use blank spaces of your test booklet for rough
ation. DO NOT USE THE TOP SHEET (FRONT OR BACK) of the test booklet for ROUGH

oose ONLY ONE option in your answers (i.e.,, A or B or C or D or E). If you circle more than one

option the answer would be treated as INVALID.

o Itis recommended that you use HB pencil to fill the OMR sheet. You may use pen to fill the circles, but in
that case you will not be able to erase your answer and correct it in case of mistake.

* Once you write your name and roll number in the answer script and start answering the question YOU
CANNOT REQUEST FOR AN EXTRA ANSWER SHEET, OR YOU CANNOT CHANGE YOUR
ANSWER SHEET WITH A NEW ONE.
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SECTION - A
Write a short essay (Maximum 3 paragraphs) within the space below.

Pohela Baishakh is celebrated every 14 April. How did you celebrate this important event this year?
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SECTION -B
v GENERAL KNOWLEDGE [5x2=10]
1. Every March 26 is a National Holiday in Bangladesh. What is being celebrated?
(A) Pohela Baishakh (B) Independence Day (C) Victory Day
(D) National Mourning Day (E) International Mother Language Day
2. Which of these test playing nations did not qualify for the super 10 round of the World T20 tournament, 2016?

(A) West Indies

(D) Bangladesh
3. The UGC stands for?

(A) Universal Grant Company

(C) United Governance of Columbia
4. What is the currency of Thailand?

(B) Zimbabwe
(E) India

(B) University Grants Commission
(D) Unity Governance Commission

(A) Pesos (B) Won
(D) Yen (E) Baht
5. What is the capital city of Australia?
(A) Canberra (B) London
(D) Sydney (E) Melbourne

6. Harun laughed wildly when he

(D) did heard

(A) did hear (B) hearing (E) None of these
7. The project will go on the origin

(A) as well as (B) according to D) as far as (E) All of these
8. The guerrillas fought without food and relie e jungle! ;

(A) even (B) fi (D) since (E) None of these
9. We talked the sel media department.

(A) in (D) of about (E) None of these
10. the empty CNG auto-rickshaw.

(A) despite (D) whenever (E) All of these
11. The stage

(A) along (D) within (E) None of these

S SIMILAR RELATIONSHIP LIKE THE FIRST PAIR.
ample: long: short; beautiful: ugly

pretty (B) ugly (C) gorgeous (D) witch (E) lovely
(C) Bite (D) Chew (E) All of these
(C) His (D) Her (E) None of these
(B) Disorder (C) Peace (D) Silence (E) Noisy
15. Song : Singer; Cinema :
(A) Actor (B) Cameraman (C) Soundman (D) Producer (E) Director
16. Think : Mind; Watch :
(A) Eyes (B) Glance (C) See (D) Look (E) None of these
17. Pen: Write; Food :
(A) Drink (B) Sleep (C) Exercise (D) Eat (E) Look
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PART C: IDENTIFY THE UNDERLINED WORD(5) THAT MAKE THE SENTENCE INCORRECT
18. Bread and jam isalways his favorite breakfast.

(A) (B) Q) (D) . (E) no error
19. New Zealand have been playing wonderful cricket consistently.
(A) (B) Q) (D) (E) no error
20. Mathematics aren’t difficult as a subject at all.
(A) (B) Q) (D) (E) no error
21. A group of students from Harvard University have come to meet our Vice Chancellor.
(A) (B) Q) (D)

22, Youand] can conquer even the Everest if we want!
(A) (B) (©) (D)
23. Qur tribal woman are very hardworking in nature.
(A) (B) (Q) (D)
PART D: CHOOSE THE CORRECT SPELLING OF THE FOLLOWING WORDS
24. (A) Proffesor (B) Proffessor (C) Professor
25. (A) Parliamint (B) Parliament (C) Perlament
26. (A) beggining (B) begining (C) beginning
27. (A) Continent (B) Continant (C) Continnent
28. (A) Curricolam (B) Curiculum

29. (A) Jurnal (B) Journale

PART E: CHOOSE THE CORRECT USAGES OF TE
30. The engineers an advanced softw

(A) are developing (B) is taking (E) was developed
31. My uncle reached the theater after the dra 3
(A) finished (B) started D) has started (E) None of these

32. The Food Council
(A) has (B) h

decided to provi farmers this year.

(E) All of these

33. Both of the girls
(A) buy (B) are (D) is buying (E) was buying
34. New students earlier t ious semesters. ‘
(A) enrolling (D) will admit (E) are admitting
35. The entire biased result.
C) had been corrupt (D) corrupted (E) None of these

ch slower in finding out what tea was like, mainly because tea was very expensive. It
ps and even those people who would afford to have it sent from Holland did so only

d very expensive in England until the ships of the East India Company began to bring it direct
e seventeenth century. During the next few years so much tea came into the country that the

At the same time people on the continent were becoming more and fonder of tea. Until then tea had been drunk
without milk in it, but one day a famous French lady named Madame de Sevigne decided to see what tea tasted like
when milk was added. She found it so pleasant that she would never again drink it without milk. Because she was
such a great lady that her friends thought they must copy everything she did, they also drank their tea with milk in
it. Slowly this habit spread until it reached England and today only few Britons drink tea without milk.

Page 4 of 5




SET A BA/BSS Summer 162

At first, tea was usually drunk after dinner in the evening. No one ever thought of drinking tea in the afternoon until
duchess found that a cup of tea and a piece of cake at three or four o'clock stopped her getting “a sinking feeling” as
she called it. She invited her friends to have this new meal with her and so, tea-time was born.

36. This essay mainly discuss :
(A) how tea-time was born (B) how tea became a popular drink in Britain
(C) the history of tea drinking in Britain (D) how Britons got the habit o,
(E) none of these

37. Tea became a popular drink in Britain :
(A) in the sixteenth century (B) in the eighteenth century

(C) in the late seventeenth century (D) in the seventeenth century
38. People in Europe began to drink tea with milk because .
(A) it became a popular drink (B) it tasted more pleasant

(D) it tasted like milk (E) none of these
39. The habit of drinking tea in Britain was mostly due to the influence o
(A) people in Holland (B) the upper social class
(C) the ancient Chinese (D) a famous
40. Tea time was born as a
(A) as a good healthy practice
(C) A ritual '

41. If three mangoes cost TK. 15, how many ma
(A) 20 (B) 42

42. If a woman is paid C taka pe
works after 8 hours, how

(E)2
ours and is paid double for every hour she

(A)C+13 (B) 18 D)13+C (E)18+C
43. If Sadia has three times as mu a i 0 has four times as much money as Arif. What is the ratio
of the amount of money Sadia ha ey Arif has?
(A)6:2 (D)12:1 (E)3:4
44. Fatheris4 ti ears he will be twice as old his son. How old is the father now?
(A) 32 48 (D) 40 (E) 24
45. A father sold a small piecg : . 100,000. One fourth of the amount was given to the son and
ther one fourt i 2 . How much is left for the father?
Tk. 15,000 : (C) TK. 50,000 (D) Tk. 25,000 (E) None of these
. Along sleeves shirt TK. 1,500. This is for sale @15% discount. How much will you pay for the shirt?
(A) Tk. 1,275 k. 1,725 (Q) Tk. 225 (D) Tk. 1,400 (E) None of these
pent 1/3 of his money for a jacket and 1/4 for a shirt. If Ehsan still had Tk. 2,000 left,
e had'at the beginning?
(B) Tk. 3,000 (C) Tk. 1,800 (D) Tk. 6,000 (E) Tk. 4,800

e her class some pieces of cardboards for their next project. If she gave her class 5 pieces each,
1 pieces remaining. In order to give him 7 pieces each, she would need 9 more pieces of
w many students are in her class?

48.

(A) 23 (B) 13 ©12 (D) 10 (E) 27
49. Which is the smallest multiple of both 12 and 18?
(A) 36 (B) 72 (©) 48 (D) 128 (E) 216
50. How long will it take a 100'm train going 1.8 km per minute to pass through a 500 m tunnel?
(A) 2.2 min (B) 20min (C) 20sec (D) 2hr (E) None
- END-
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